Order of Operations (A)

1L (10+2—3)

2. 94 (6+6)

3. (5—8+8) x4

4. 5% (6+6)

5. (2+2x4)°

Perform the operations in the correct order.

6. 4+10—(5+7)

7. 8% (8—8)=9
8. 5+6—(8—6)
9. 6+ 131
10. 287649

1. (6—4)°"*

12. 32442

13, 297(8-5)

14, 1673%3

15. 427142
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Order of Operations (A) Answers

Perform the operations in the correct order.

C(10+2—3) 6. 44+10—(5+7) . (6—4)°*
9+ (6+6)° 7.8% (8—8)+9 b 32440
=10 =0 =11

. (5—8+8) x4 8.5+6—(8—06) 13, 29+(8-5)
5% (6+6)° 9. 6+ 137! 4. 16-3+3

= :6 =
C(2+2x4) 10. 287649 15. 4251 49
=16 =13 — 18
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Order of Operations (B)

Perform the operations in the correct order.

1. 8x 1432 6. 1—(5—5)x4 1. 542%+2
2. 241011 7. (5-1)"° 12.9-2242
3. 89179 s 8—3x17 13. 1x 10 x 1°
4. 1x2+1x6 0 32_1x%5 14.8+22x6
5.3+ ((7-3)+4) 10. 10+54+8—10 15. 5= (1-2+2)
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Order of Operations (B) Answers

Perform the operations in the correct order.

8 x 1432 6. 1—(5—5)x4 1. 5+2%2=2
=17 =1 =7
24101 7. (5-1)"° 12.9-2242
gox1-9 g 8—3x17 13. 1x10x 1°
— —5 =10
Ix2+-1x6 9.32_1x%5 14. 8226
=12 — 4 =12

3 ((7-3)+4) 10. 10+54+8—10 15.5—5(1—2+2)
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Order of Operations (C)

Perform the operations in the correct order.

—

. 10-3x2+1

2. (7—(9—-6))°

3. (10—9) x (10— 6)

4. (10-7)+3x3

501+-(4+(6—-2))

6.8 (6—2)+8

7. (442—-5) %5

8. 1 x3x3+1

9. 10+-1x1+2

10. 1—(1—-1)+6

1. (7—5) x (3+4)

12.5+(1+1)+1

13.3—4+-4+6

14.7—(9-5)=+1

15. (4—3) x99
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Order of Operations (C) Answers

Perform the operations in the correct order.

10-3x2=+1 6.8+ (6—2)+8 1. (7—5) x (3+4)
(7—(9-6)) 7. (44+2-5)%5 2.5+ (1+1)+1
=16 =5 =0

- (10—-9) x (10— 6) 8. 1x3x3+1 13.3—4+4+46
(10—-7)+3x3 9. 10+-1x1+2 14.7—(9-5)=+1
1+-(4+(6-2)) 10. 1=(1—-1)+6 15. (4—=3)x9+9
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Order of Operations (D)

2.8x(8—7)—4

3. 48443

2
4, 542

Perform the operations in the correct order.

6. (1+9)x6+6

7. 81 —23

8. (10—7)""7

9.34+7—1°

10.4=-14+8+2

11. 10427

12.5—(3-3)-3

13. (6—6)>"!

14. (5x4+5)

15 1+4+(9-5)
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Order of Operations (D) Answers

. 3-3%2:3

8% (8—7)—4

54—22

Perform the operations in the correct order.

6. (1+9)x6=6 1. 10 +27-3
=10 =14

7. 81 23 12.5—(3-3)-3
=0 =2

8. (10—7)""7 13. (6—6)>!

9.34+7—1° 14. (5x4+5)?
=9 =16

10. 4+1+8+2 15 1+4+(9-5)
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Order of Operations (E)

2. (4—4) % (4+2)

3.23-54+10

4 (4=7+7)%6

5. 10x8+-2+2

Perform the operations in the correct order.

6.9 — (4+4)°

7.6+ (3x5+5)

5. (8—(9-2))=1

9.9+ (4—1)—3

10. (5+1+1)x1

1. 2x74+2)x1

12. 8+ (4+2+2)

13. 22 8

14. 10+ (1x5)—1

15.8—10=1
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Order of Operations (E) Answers

Perform the operations in the correct order.

2024 6. 9— (4=4) 1. (2 7+2) x 1
(4—4) x (4+2) 7.6+ (3x5+5) 12. 8+ (4+2+2)
22 —5410 8. (8—(9—2))=1 13. 2% -8
(4—7+7)x6 9.9+(4—-1)-3 14. 10+ (1 x5)—1
=18 =0 =1
10x8+2+2 10. (5+14+1)x1 15. 8—1°+1
—20 =6 =77
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Order of Operations (F)

Perform the operations in the correct order.

7= 110-8 6. 1 +6=1+7 11, 59+1-8

3+(9-2%) 7. (1=5)°=2 12. (5+5)*x2

7+(3+1+3) 8. 8+ (3+4+4) 131 =141

.12><8><1 9. 48+4_7 14. 10—(6—2)><2

. (9-3)=+(6+1) 10.542-1-3 15, (22)8_6
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Order of Operations (F) Answers

Perform the operations in the correct order.

71108 6. 1+6+1+7 11, 5918

=7 =14 _5
3+(9-2%) 7. (7=5)° =2 2. (5+5)" %2
7+(3+1+3) 8. 8+ (3+4+4) 13 1M —1+1

—7 ) —1
12x8%1 o A8+4 _ 7 14. 10— (6—2) x 2
:8 = p—
(9-3)+(6+1) 10.542—1-3 5. (22)%7°

=1 =3 =16
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Order of Operations (G)

4—-—14+1x6

S5=(Tx1+7)

2% (4410+2)

(8—6)=(9-8)

8+-(1+1+1)

Perform the operations in the correct order.

6. 8+(24+1)+3

7.3+-1+5-8

] 310+(5+1)

9.2x2—14

10.9+1—-(3-2)

1. (4+2)"+1

12. 4+ (42 +8)

13. 5% (10 —23)

14. 10+ ((6—5) x5)

15.9+8—(2-2)
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Order of Operations (G) Answers

Perform the operations in the correct order.

4—141x6 6. 8+(2+1)+3 1. (4+2)"+1
=9 =17

5+ (Tx1+17) 7.3+1+5-8 12. 4+ (4> + 8)

2% (44+10=2) 8. 310+(5+1) 13. 5% (10— 2%)

. (82—6)+(9—8) 9. 2_><32—14 14. 10+ ((6—5) x 5)
8+ (1+1=+1) 10. 94+1—(3-2) 15.9+8—(2-2)
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Order of Operations (H)

10423 -2

L 6+4+2+1

44+6-2x4

. (4-14+9)x1

C(10+5)7

Perform the operations in the correct order.

6. 1 x(8+3+1)

7.3x24+5=5

8. (1—1)x 10=5

9.2 % 5

10. 2248 =1

11. 2+-2—-10+10

2.7+ (1+1)°

13.5—(6—-6=+1)

14. 4423 +7
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Order of Operations (H) Answers

Perform the operations in the correct order.

10423 -2 6. 1% (8+3+1) 11.2+2-10=10
=16 =12 =0
6+4+2+1 7.3x2+5+5 2.7+ (1+1)°
4+6+-2x4 8. (1—1)x10+5 13.5—(6-6+1)
C(4-1+9)x1 9 21° 5 14. 4422 +7
=12 — 10 =19

. 5
- (10+5)77 10. 2248+ 1 i5. (6!
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Order of Operations (I)

Perform the operations in the correct order.

1. 10—-5%x4-=5 6. (8—4)+(4-3) 1. 3x1x2—1
2.5x(8—=7)x4 7. (44+8—7)x2 12. 34 (8 —6)°

3. (T+4)x 1+5 8. (1x10—4)x2 5 (3—1)=1x6
425213 o 1(#) 14, 10122 x4
5. (44+4)+(9-38) 10. 6+ (6—(6—2)) 15. 9 — 1102
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Order of Operations (I) Answers

1. 10-5x4-=5
=6

2.5x(8—=7) x4
=20

3. (7T+4)x1+5
=16

4.22+1-3
=5

5. (444)+(9-8)
=38

Perform the operations in the correct order.

(4-3)

6. (8—4)+
— 4

7. (44+8—7)x2

=10

8. (1x10—14)x2
=12

9 1(42)1
=1

10. 6+ (6—(6—2))
=3

11. 3Ix1x2—1
=5

o
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13.3—1)+1x6
=12

14. 10+-1+2x4
=20

15. 9 110-2
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Order of Operations (J)

L (7T—1=2)

((445)+9)°

N

3.8+ (4= (9-7))

4 (4—2)x10—2

5. (7—4) x (7—4)

Perform the operations in the correct order.

6. 22 =22

7.3+(3+1)x4

8. 7—4+7x1

9. (8+1)x 18

10. 9—(5—-5x1)

1. 2x (2—1")

12. (5—1)=(10-9)

13. 2x 31 +7

14.9—8 =83

15. 5% (94+1—06)
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Order of Operations (J) Answers

(7T-1-2) 6. 22+ 27 .2x (2-1')
=16 =1 =2
((4+5)+9) 7.3+(3+1) x4 12. (5—1)=(10-9)
8+(4+(9-17) 8. 7—4+7x1 13. 2x 3147

iy =10 =13
(4-2)x10-2 9. 8+1) x 1° 14.9—8+8x3
=18 =9 =

(7—4)x (7—4) 10. 9—(5-5x1) 15.5%x(94+1-06)
—9 =9 =20

Perform the operations in the correct order.
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